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Finding the Focal Length Distance ;/ARBOR _

/I_ig ht rays from a distant point light source can be approximated as
traveling parallel with one another. This is especially true of light from our
Sun or other stars. The sun is approximately 93 million miles away from the

Earth.

These nearly parallel light rays will be focused at the focal point of the
Kconverging lens. y
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Whiteboard Results ;/ARBOR _

your straight line
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graph.
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Y-Intercept Rules: el

5% Rule: If the Logic: If you can
y-intercept Is less reason that the

than 5% of the y-intercept should
maximum y-value, 0e zero. You can say
then you can say ts Is zero.

that it Is insignificant

Oor Zero.
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y-intercept = 1/focal length
Symbol: 1/f Units: 1/cm

General

Equation d f
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“Thin-lens Equation” Z/ARBOR
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